® ®

=I(SL

Komnnekrauin
Components

DeTani KpoHwTeHa
Details of the wall mount

HacTiHHMI KpOHLWTENH
Wall plate

Mo3HayeHHA KinbKictb
Marking Quantity

@ 1

KpOoHLWITENH KpinaeHHA

Mounting bracket
Mo3HayeHHA Kinbkictb
Marking Quantity

2

KomnnekT KpinneHHA
Set of fasteners

[na KpinneHHA nhacTHU A 10 CTiHU
For mounting the plate A to the wall

4 N

Mo3HayeHHA
Marking

©

Kinbkictb
Quantity

Orobens 10x50 3 wr.
Wypyn 6x50 3 wr.
Llanba M8 3 wr.

Dowels 10x50 3 pc.
Screws 6x50 3 pc.
Washers M8 3 pc.

[na KpinneHHa KpoHwWwTeliHa B go naHeni
For mounting the bracket B to the TV

4 N

Mo3HayeHHA
Marking

®

Kinbkictb
Quantity

BUHT M6X16 4 WwT.
BMHT M8x16 4 wr.
BUHT M8x25 4 wr.

Screw M6x16 4 pcs
Screw M8x16 4 pcs
Screw M8x25 4 pcs

® ®

=I(SL
P UKRJ ™

HaCTiHHMIA KPOHLWTEMH 3 peryN1boBaHUM KYTOM Haxmuay
nns (LCD/LED) Tenesi3opiB i MOHiTOpIB
KSL WM449N

Mpu3HayYeHn ana naHenemn 3 KpinuabHUM 610kom VESA min 100x100 mm,
max 400x400 mm i makcMmanbHo Baroto 40 Kr.

[akyemo 3a B1bip npoayku,ii KSL!
Bca npoaykKuis KSL Bupobnsetbes B YKpaiHi | Ha Hel Haga€eTbes AoBIYHA rapaHTial
Byapb nacka, yBaxKHO 03HaMOMTECh 3 JAaHO IHCTPYKLLEIO Nepes NOYaTKOM BCTaHOBNEHHSA KPOHLWTENHY!
MoOHTaX NOBMHEH NPOBOAMTUCH Y CYBOPIN BigNOBIAHOCTI A0 IHCTPYKLT!

IHCTPYKUiA 3 BCTAaHOBNEHHA

HeobxiaHMI ANA BCTAHOBNAEHHA iHCTPYMEHT:
— oniseup (419 PO3MITKM MicLLb CBepANiIHHA)
— piBeHb (419 NPaBUABbHOTO FOPU30OHTAIbHOTO BCTAHOB/IEHHA KPOHLUTENHA)
—nepdopatop i byp giametpom 10 i 4OBKMHOKW HE MeHLEe 65 mm
— BMKPYTKa XpecToBa (411 NPUKPYyYyBaHHA FBUHTIB A0 NaHeni)
— MOJIOTOK (N5 3abuBaHHA aHKepis abo atobenis)
— KAtoY raikoBuit Ne10 (g8 3akpydyBaHHA rBUHTIB abo aHKepiB)

Wall mount with adjustable tilt
for LCD (LCD / LED) TVs and monitors

KSL WM449N

Designed for TVs with the mounting unit VESA
min 100x100 mm, max 400x400 mm and a maximum weight of 40 kg.

Thank you for choosing KSL! All KSL products are made in Ukraine. Please read these
instructions before installing the wall mount! Installation should be carried out in strict
accordance to the instructions!

Installation Instructions

Tools required for installation:
— Pencil (to mark the drilling locations)
— The level (for proper horizontal mounting bracket)
— Punch and drill diameter of 10 and a minimum length of 65 mm
— Phillips screwdriver (to tighten the screws to the panel)
— Hammer (for driving anchors or dowels)
— Wrench Ne10 (for tightening the screws or anchors)




3aranbHi BUMoru 6e3nekun. KpoHWTenH NPU3HAYeHWI AR BCTAHOBNEHHA Y BHYTPILWHIX MPUMILLEeHHAX. MepL HiXk MOHTYBaTH
KPOHLUTENH, NepeKoHanTecs Yy BIACYTHOCTI MPOXOAMKEHHA HAa MicLi KpIiNAeHHA enekTpuyHoro Kabenio, rasonposoay,
CAHTEXHIYHUX PO3BOAOK i iHWMX KOMYHiKaLi. Hikonn He BCTaHOBAKOWTE YaCTUHM, WO MatoTb AedekTu. KpinaeHHsa, wo
BXOZAMTb B KOMMIEKT, NpU3HaueHe Ana 6eToHHMX abo LerenbHUX CTiH, TOBLUMHA LUTYKATYPKU He NMOBUHHA NepeBuLLyBaTh 3
MM. 1A iHWKWX BUAIB CTiH 3HaZ0OWUTLCA iHLWE KpinaeHHs.

General safety requirements. The wall mount is designed for installation indoors. Before mounting bracket, make sure no
passing in place of mounting electrical cables, gas, plumbing and other communications interconnections. Never install parts
with defects. The included fasteners are designed for concrete or brick walls, plaster thickness should not exceed 3 mm. For
other types of walls need other fasteners.

Kpok 1 I
Step 1

-

BuKopucToBYtOUM NAACTUHY A y AKOCTI WabnoHy, a
TaKOX pPiBEHb 3 KOMMJIEKTY IHCTPYMEHTIB, PO3MITUTH
MicLue BCTAHOBNEHHA KpiniaeHHA BiANOBiAHO A0
OTBOPIB Yy NNACTUHI A; OTBOPM NOBUHHI PO3TaLLOBYBa-
TUCb FOPU3OHTA/NBHO.

Using A plate as a template and the level of the sets,
mark the place of the installation according to the
mounting holes in the plate A; holes should be placed
horizontally.

Kpok 3
Step 3

KBVIGpaTVI 3 KOMMIEeKTY KpinaeHHA D rBuHTM BignoBigHOI
LOBXWHWU | piameTpy. BukopucToByilTe nuvwe posmip
rBMHTIB, BKa3aHWI B iHCTPYKLii fo Tenesizopa! 3akpinutun
Ha NaHeni Tenesi3opa KpoHWTelHU B, BMKOpUCTOBYHOUM
rBMHTU 3 KOMMNJIEKTY KpinieHHa D.

Choose from a set of fasteners D screws of an appropriate
length and diameter. Use only the size of screws specified
in the instructions to your TV! Fasten the brackets B to the
TV using the included screws from the set D.

Kpok 2
Step 2

Bukopuctosytoun nepdopatop, NpocBepanTU
OTBOPU Yy CTiHi giameTpom 10 Mm i FMBUHOIO He
meHwe 60 mm. Bcrasutn awobeni C B oTBOPM.
3aKpinuMTK NAacTMHy A Ha CTiHi, BUKOPUCTOBYOUM
Wwypynu i warbu 3 komnnaekty C.

Using a punch, drill the holes in the wall with a
diameter of 10 mm and a depth of not less than 60
mm. Put the dowels C in the holes. Fasten the plate
A to the wall using the screws and the washers from
the set C.

\_

YBara! lMicna BCTaHOBNEHHA KPOHLITENHY NepeBipuTU HALIMHICTb MOro KpinaeHHA [0 naHeni Tenesisopy.
Attention! After installation, check the reliability of the bracket to the TV

Kpok 4
Step 4

BcTaHoBUTM BaxkaHWi KyT HaxuAy i 3adikcy-
BaTM MOro 3a [OMOMOrOK TBUHTIB, SKi
PO3TaLlOBaHi Ha KPOHLITENHAX B (BuAineHi
Ha MastoHKy)

Set the needed tilt angle, and lock it using
the screws that located on the brackets B
(marked in the picture)

N /

Yeara! lNicna BCTaHOBNEHHA KPOHLITENHY NepeBipUTU HALiINHICTb MOro KpiNnaeHHA A0 CTiHW.
Attention! After installation the plate check the reliability of the bracket to the wall.

BupobHUK Moxce 3MiHI8aMuU KOMIMAEKMAuito ma xapakmepucmuku eupoby.
The manufacturer may change the fasteners set and specification the product.

Kpok 5
Step 5

%
J

o=}

HaBicuTn naHenb Tenesi3opa 3 KPOHLWTEeNHa-
MK B Ha nnactvHy A, AiK Le MoKasaHo Ha
MasTIOHKY.

Hang the TV with the B brackets on the plate
A, as shown in Fig.




